
(6.1) 

𝐼𝐿(𝑡 + 𝐿) = 𝐼𝑃(𝑡)_𝐷(𝐿) 

 

(6.2) 

𝑃(𝐼𝐿 = 𝑗) = 𝑃(𝐷(𝐿) = 𝑘 − j).               j ≤ k 

 

(6.3) 

𝑔(𝑘) = −𝑏1𝐸(𝐼𝐿) + (ℎ + 𝑏1)𝐸(𝐼𝐿+)

= −𝑏1(𝑘 − 𝜇′) + (ℎ + 𝑏1) ∑ 𝑗𝑃(𝐼𝐿 = 𝑗)

𝑘

𝑗=1

 

 

(6 ∙ 4) 

𝐶(𝑅. 𝑄) =
𝐴𝜇

𝑄
+

1

𝑄
∑ 𝑔(𝑘) ∙

𝑅+𝑄

𝐾=𝑅+1
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(6 ∙ 5) 

𝐶(𝑄) = 𝑚𝑖𝑛𝑅{𝐶(𝑅. 𝑄)} ∙ (6 ∙ 5) 

 

 

(6 ∙ 6) 

𝑅∗(𝑄 + 1) = 𝑅∗(𝑄) − 1     𝑖𝑓 𝑔(𝑅∗(𝑄))

≤ 𝑔(𝑅(𝑄) + 𝑄 + 1). 

𝑅∗(𝑄 + 1) = 𝑅∗(𝑄) 

 

 

(6 ∙ 7) 

𝐶(𝑄 + 1) = 𝐶(𝑄)
𝑄

𝑄 + 1
+ [min {𝑔(𝑅∗(𝑄). 

𝑔(𝑅∗(𝑄) + 𝑄 + 1)}]
1

𝑄 + 1
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𝑇𝑎𝑏𝑙𝑒 6 ∙ 2 𝑞∗𝑓𝑜𝑟 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑡 𝑓𝑖𝑙𝑙 𝑟𝑎𝑡𝑒𝑠 𝑎𝑛𝑑 𝑣𝑎𝑙𝑢𝑤𝑠 𝑜𝑓 𝑒 = 𝐼𝑛(𝐸) 

e/s       60%       70%       80%       85%       90%       95%       99% 

1 ∙ 7371 1 ∙ 8926 2 ∙ 0165 2 ∙ 1255 2 ∙ 2323 2 ∙ 4609 2 ∙ 7398 −0 ∙ 2 

1 ∙ 8047 1 ∙ 9633 2 ∙ 0904 2 ∙ 2025 2 ∙ 3127 2 ∙ 5496 2 ∙ 8408 −0 ∙ 1 

1 ∙ 8756 2 ∙ 0373 2 ∙ 1675 2 ∙ 2828 2 ∙ 3964 2 ∙ 6421 2 ∙ 9462 0 ∙ 0 
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